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PART-A (F - 9)
For New Course

Q. No. 1 carries 1 mark eaclt (any four) ..o 14 = 4
Q. No. 2 carries 2 marks each (any five) .........c.ccccveveceeen. 2x5 = 10
Q. No. 3 carries 3 marks each (any two).........c..cccvceie0nn. 32 = 6
Q. No. 4 carries 6 marks each (any fw0) .......ccoocprvivirrirnnen. 6%2 = 12
Q. No. 5 carries 8 marks each (any one) ......c.ccccccuvivrennn. 8%1 = 8

Total = 40

PART-B (% - 1)

For New Course

Q. No. 6 carries 1 mark eacl (any four) ... 1x4 = 4
Q. No. 7 carries 2 marks each (any five) ........ccouvererviverinn 25 = 10
Q. No. 8 carries 3 marks each (any [00)..eviieciiin 32 = 6
Q. No. 9 carries 6 marks each (any £100) ......ccovrsevseernninnn. 6%2 = 12
Q. No. 10 carries 8 marks each (AT ONE), .ok toearsaorenssonsss i OXT =108

Total = 40

PART-C (o - =ig#)
For Old Course (in lieu of Project Works) /!
Q. No. 11 carries 5 marks eacl (any four) ..., 5x4 = 20
Total = 20
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PART-A / -9

Answer any four of the following questions :

= - ]_><4=4

(1)
(@)
(iti)

(iv)

(v)

(vi)

What is intermediate good ?

TS| w3y et [ qEe

If MPS =1, what is the value of MPC ?
T MPS = 1 73, MPCH W1 i 2792
Primary Deficit = Fiscal Deficit —

: T AT Ay (Fill in the blank)
R Qi —sedm At | (31Tl 372 791 =)

Which one of the following is not a quantitative credit control

measure of the central bank?
5 (PG (P (K ARSI 49l e 7% 79
(a) Bank rate
(SIS
(b) Open market operation

&Il S 2ifeE

(¢) Variable reserve ratio
AAlRReTAIE afre e Tl
(d) Direct control
o (e
Write one merit of flexible exchange rate.
Afro<ie [ 2@ @b A &2
What is GDP deflator ?
GDP (65 52

Answer any five of the following questions -

(TG R | B W £y oy 177 - ) o e B 2x5=10
(i)  Differentiate between capital expenditure and rey

(iv)

(iii)

~ tn , 3
T AR W e G AGH HAe FH | H€ expendityre,

What are the components of high-
CHTIOPT0 3w SAMIEEE & [
What are the transactions that are included in the !

of balance of payments ? “apital accoynt
AR o1 3eeeT) Roteie B 7 fan soge 2 Ao

pPowered' money

(v) Define personal income and personal disposable ;
Tl witm i fests TR W e G Hicome,
34T ECON [2]

(v)

(vi)

(vii)

Answer any two of the following questions :

As a result of increase in investment by Rs. 125 crores, national
income increases by 500 crores. Calculate the value of the

multiplier.

Rzl 125 (i 5l g e @St o 500 (I Bl ia T | Sl
e =1 |

Distinguish between stock and flow.

Tg© IIF AT e 2w (S|

Write any two implications of revenue deficit.

BICERIITE Ao /ol e SRRl

weTs Al eX@EA i 7oi9 ©ed T ¢

()

Write any three limitations of barter system.

RT3 22| Rt fofEer seifRa S 341 |

_(ii) What is balance of payments deficit ? Write two causes of balance

of payments deficit.
Afelle= o Wil (€2 #iReii" smoE =T 76 FR9 Bed 401

(iii) Write a short note on :
Autonomous and Induced Investment.
53 (ot &l 2
FoF WF Sferee [ECE!

(iv) What is a government budget? What are the components of
government budget ?
SFIS] QCEs 52 HIFINl A0S0 SAMITRR 7 52

Answer aﬁy two of the following : 6x2=12

o ePTIEE Rieeicl qo19 e fl ¢

(i)  Discuss the motives of demand for money ? What is liquidity stiaizi g
TulF Bl SfeeEEz SiEsal 91| Ok T e

(i) Briefly discuss the income method of calculating national income.

From the following data calculate Gross National Product at mark“ee')c
pl’iCC (GNPMP] .4+2‘—
SIS S Sl T4 S AEOCo! bGP Sl 91 | OFF wAd IR T«
V€S o SIS Sesiiwe ool 4l |
(in Rupees crore)
(&I oF19)

(i) Mixed income of self-employed 400

Fcafte soas fifEs =i
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(1) Compensation of employees
SISt wfosad
(ii) Net factor income from abroad

Romie 711 @t [t ug

(iv) Net Indirect Taxes (%% +iarsF 59)

(v) Consumption of fixed capital
9 Jeve Coicenl

(vi) - Profits (5il©)

(vi) Rent  (Q%Hl)

(viii) Interest (3%)

(i) Discuss the functions of commercial bank.

AT @& FRIET iy 70

(iv) Deﬁn(? aggregate ' dem

(in Rupees crore)

(I Tore)
500

(-20)

100
120

Consumption

Savings Investment Aggregate

Demand
ToitStof %6y it e wifewm

(C) (S) (I) (AD)

900 780 40 B
800 700 40 PE T
700 620 40 R e
600 540 40 |
500 460 70 e
400 380 20 e |
300 300 40 e
200 : 220 40 e |
100 140 a0 e e el
S.  Answer any one of the following : s e
OO SPARS gz @b Ses f g YT

() What is fiscal policy ? Discuss the impact of chan
expenditure and changes in taxes on equilibriy

wﬂa%%?mw\sww@w

A TG F |
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8€S in government
M income,

2+3+3=8

(1)

(iii)

Explain the determination of exchange rate under flexible exchange
rate system.

AROTT= R 2 Az [ 2w f[dsd <o <=1
Write short notes on : 4F4=8
53 (B fo14lt ¢ '
(@) Demonetisation
BRG]
(b) Fiscal Responsibility and Budget Management Act, 2003
ST WG FAFE I ACT5 #HfG1ew wNie, 2003

PART-B / 4-9i#

Answer any four of the following questions : 1z

O IS Rz BfRbrT Ses fuxl

()
(i)
(it1)
(iv)

(v)

(vi)

Answer any five of the following questions :

What is underdeveloped economy ?

e WIS IR [ gt e

In which year World Trade Organisation (WTO) was formed ?
=l <iidfen F (WTO) (1 57 si5m cafem 2

Write the full form of SHG.

SHG F ™ =i f&2it |

Write one objective of NITI Aayog.
NITI SCA9R 957 Srwpy ol |

Golden revolution was related to —

(@) fish production

(b)  horticulture production

(c) milk production :
(d) agriculture production (Choose the correct option)
Gl K2 Tfts wifte —

(@) ST BV (Hre

(b) SWETT Sesiiv Bire

(c) Y% Cesias e

(@) TR Seoiwm ire (o= s o1 )

Define privatisation.
IfesToTwlT sgea =)
2x5=10

Oold RS Rz ofish)e Ses ¢

(i)

Mention fwo non-institutional sources of rural credit.

&I 4R 75 Sepie St Srmel 4 |

Contd.
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(i)  Write two long-term goals of Five Year Plans of India.

SRS ARIRE AR 757 D w9

(i) Mention two types of unemployment prevalent in the agriculture

sector of India.

WW@EW@‘WWW@@%WI

(iv) What is the importance of green revolution

in :
agriculture ? | the Indian

Ol FRNGS CT8T [egq vy e
(v) Write two positive effects of LPG policies in the Indian €co
nomy.
SRS wTIfes LPG Tifeq 70! N oo {2 4
(v) Write two merits of globalisation.
CIFFIFIEE 707 R4 Srzel <541

(vii) Mention two objectives of disinvestment.

R 750 Sl Sy a

8. Answer any two of the followin i
£ questions :
O SR Rz 7517 Seq fzy o
()  Write a note on Industrial Policy Resolution 1956.
I 2R, 1956 7 ey < A REEIT

(@)  Briefly discuss an ' i |
. Y one serious enviro ia i
el e nmental problem India is

WWWW@HW%@L‘?W CFeq AR
BY(E STl 951 |

(iii) Discuss the com
independence.
WWWWW@WWWWW!

(iv) Explain the role and 1
formation,

AR A a15To R ikl o wwrg 3o |

9. Answer any two of the followin

3x2=6

position of India’s foreign trade on the eve of

mportance of education in human capital

g questions :

; 6XxD=
O R Rirrer 7o Sw ¢ G
()  Write a comparative note for I dia, Chi i

¢ ndia, China and Pakistan on the bhasig

(@) Demographic indicators
(b)) Human development indicators
(a) TGRS sfelfd e

(b) Wmm%@wﬁamm R
Il eige 5 | il
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(ii) - Briefly discuss the challenges India is facing in the context of
employment. s d ’
@R (@webe Saedag FIIM mWWWWI

(i) What is economic reform ? Explain the need for economic reforms

1+5=6
in India.

wieftafes TR & oReade adtfes R AEGAIEe! e 54

(iv) Outline the common developmental successes and failures of India

3+3=6
d Pakistan.
2§$ﬁﬁm¢fmﬁﬁmﬂaiﬁﬂ@?ﬁn7@ﬁﬁﬂ*ﬂﬁ3ﬁmﬁﬁﬁaﬁhmﬁ1%ﬂn
| gx1=8

10. Answer any one of the following :
Gk ﬁmmycﬂﬁ‘r o B frdl 8 . :
(i) What do you understand by agriculture mmkeﬁng sy‘ic:gln t
Discuss government measures to improve agriculture mar2+6=§
; in India. " i
%EI%WW%W?W%@%WW@WWMW
bS] AMCFZPTR STl < |
(i) Analyse the concept of sustainable development. Also discuss the

' ' 4+4=8
teoies for sustainable development. :
%%;g@aw R QIS % b o W D (ACRS T i IR E O S Wl el b P ER | B
4 |

PART-C / 9-91# .
(For Old Course Students in lieu of Project Works)
11. Answer any four of the following questions :
oo fageial bifAv 24E Ged il 8 ;
iti ublic debt.

)  Write a critical note on pubi® _
m ) A R @b T AEe (Ol el | .
(i) Discuss the sources of demand for foreign currency.

CaRis Suie Bk SR Sicosl

i try’s welfare ? Justify your
d as an index of coun
(iii) Can GDP be use

5x4=20

answer:ﬂ‘aj;I (el I TR 9218 A ARG 2 (ST ©GId AT qﬁsﬁ
GDP < .
S15=eoIEl |

3 : h an Caplta_]-'J DiSCUSS the SOUrC(::‘S Of human Caplta],
(iv) What is %r:lmaﬂ - e e
ﬂm;ﬁ <Ix,jritc'about India as a knowledge economy.
i Xﬁ a1 f2ol0s SIS e v @l | .
I IIRIBIR . ~ular flow of national income in a simple economy.
s the circu il e

X

;)  Discus
(v) G2 SR SEOIIOCACIER

il
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